
9 - 1 =
7 - 6 =

10 - 5 =
8 - 5 =
8 - 2 =

10 - 1 =
8 - 6 =
9 - 5 =

6
8
3
9
2
4
5
1

Carte à pinces
Soustractions des nombres 
inférieurs à 10



10 - 7 =
7 - 6 =

10 - 6 =
6 - 3 =
8 - 2 =
9 - 6 =

10 - 2 =
9 - 7 =

6
3
3
3
8
2
4
1

Carte à pinces nombres 
inférieurs à 10



10 - 7 =
7 - 6 =

10 - 6 =
6 - 3 =
8 - 2 =
9 - 6 =

10 - 2 =
9 - 7 =

6
3
3
3
8
2
4
1

Carte à pinces
Soustractions des nombres 
inférieurs à 10



10 - 7 =
7 - 6= 

10 - 6 =
6 - 3 =
8 - 2 =
9 - 6 =

10 - 2 =
9 - 7 =

6
3
3
3
8
2
4
1

Carte à pinces
Soustractions des nombres 
inférieurs à 10



5 + … 
9 + …
2 + ….
4 + …
7 + …
3 + …

8 + …

1
2
5
8
7
6
3
4

Carte à pinces
Combien faut-il ajouter 
à…….pour faire  10 ?

6 + …

Ça  
fait 10 !



5 + 8 =
9 + 5 =
5 + 5 =
5 + 7 =
5 + 10 =
6 + 5 =
5 + 4 =
3 + 5 =

14
11
15
12
10
13
8
9

Carte à pinces
Additions de nombres

5 + …


